

نام و نام خانوادگی: ... شماره دانشجویی: ... کلاس: ...

15) $f'(1) = f'(1) \rightarrow 1 = \frac{1}{r} b x a^{-\frac{1}{r}} \rightarrow 1 = \frac{1}{r} b(1)^{-\frac{1}{r}} \rightarrow b = \frac{r}{1}$

$a + b = 1$

$a + b = 1$

$b = \frac{r}{1} b = r$

$a = 1$

$b = r$

$a + b = 1$

$a + b = 1 \rightarrow a - \frac{r}{r} = -1 \rightarrow a = \frac{1}{r}$

$a + b = \frac{r}{r} + \frac{1}{r} = \frac{r}{r} = 1$

$f(x) = \frac{|x-1|}{\sqrt{x}} \xrightarrow{x \rightarrow 1} f(x) = \frac{-(x-1)}{\sqrt{x}} \rightarrow g(x) = \frac{\sqrt{x} - x + 1}{\sqrt{x}} = \frac{\sqrt{x}}{\sqrt{x}} - \frac{x}{\sqrt{x}} + \frac{1}{\sqrt{x}} \xrightarrow{x \rightarrow 1} g(x) = \frac{1 - 1 + 1}{1} = 1$

$f(1) - g(1) = (1 - g)'(1)$

$f - g = \frac{-r\sqrt{x}}{x^{\frac{1}{r}}} = -r\sqrt{x}^{-\frac{1}{r}} \xrightarrow{x \rightarrow 1} -r\sqrt{x} \left(-\frac{1}{r}\right) x^{-\frac{1}{r}} = -r\sqrt{x} \left(-\frac{1}{r}\right) = \frac{\sqrt{x}}{r}$

1) $\checkmark \rightarrow ab + c = \frac{1}{a} \checkmark$
 $\rightarrow b = \frac{1}{ar} \Rightarrow b = \frac{1}{ar}$

$\frac{1}{a} = \frac{1}{ar} \times a + c$
 $\frac{r}{a} = c$
 $ac = r$

$b \rightarrow b \rightarrow (n, a) \rightarrow b \rightarrow b \checkmark$

$a \neq m(n, a)^{m-1} \xrightarrow{n \rightarrow a} \neq 0 \alpha$

$m \rightarrow m \rightarrow (n, a)^{m-1} \rightarrow 1 \neq 0 \alpha$

$g(-\sqrt{r}) f'(g(\sqrt{r})) = (f \circ g)'(-\sqrt{r})$

$f \circ g(x) = \frac{1}{\sqrt{\frac{1}{x} - \frac{1}{x}}} = \frac{1}{\sqrt{\frac{r}{x}}} \rightarrow f \circ g(x) \rightarrow (f \circ g)'(x) = 1$

$g(x) \xrightarrow{x \rightarrow 0} g(x) < 0$

$(f \circ g)'(-\sqrt{r}) = 1$

$$y = au - a \xrightarrow{u = \frac{1}{t}} f'(t) = -a$$

$$f(t) = -at - a \Rightarrow f'(t) = f(t) = -a + at + at = 2at - a$$

$$a = -1, a$$

$$f'(t) = 1, a$$

$$f(t) = 0, a$$

$$\frac{f(t)}{f'(t)} = \frac{-at - a}{1, a} \left(\frac{-1}{t} \right)$$

$$y = f(g(u)) \rightarrow y' = g'(u) f'(g(u)) \xrightarrow{u = \frac{r}{\sqrt{r}}} y' = g'\left(\frac{r}{\sqrt{r}}\right) f'\left(g\left(\frac{r}{\sqrt{r}}\right)\right) \rightarrow y' = g'\left(\frac{r}{\sqrt{r}}\right) f'(r)$$

$$g(u) = \frac{1}{\sqrt{2u-1}} = (2u-1)^{-\frac{1}{2}} \rightarrow g'(u) = -\frac{1}{2} (2u-1)^{-\frac{3}{2}} \times 2 = -\frac{1}{2} (2u-1)^{-\frac{3}{2}}$$

$$g'\left(\frac{r}{\sqrt{r}}\right) = -\frac{1}{2} \times \frac{r}{\sqrt{r}} \left(\frac{1}{\sqrt{r}}\right)^{-\frac{3}{2}} = -\frac{1}{2} \times r^{\frac{1}{2}} = -\frac{r^{\frac{1}{2}} \times \sqrt{r}}{2} = -\frac{r}{2} \rightarrow g'\left(\frac{r}{\sqrt{r}}\right) = -\frac{r}{2}$$

$$f(u) = (2u+1) \rightarrow f'(u) = 2 \rightarrow f'(r) = 2$$

$$y' = g'\left(\frac{r}{\sqrt{r}}\right) f'(r) = -\frac{r}{2} \times 2 = -r$$

$$g(u) = f(u+1) + r f'(u+1) \xrightarrow{u=-r} g'(-r) = f'(-1) + r f'(-1)$$

$$f'(-1) = f'(-1) \rightarrow g'(-r) = f'(-1) = f' \times \frac{r}{r} = 1$$

$$f(u) = (u+1)^{\frac{1}{r}} \sqrt{u+r} \rightarrow f'(u) = \frac{1}{r} \sqrt{u+r} + (u+1)^{\frac{1}{r}} \frac{1}{2\sqrt{u+r}} \rightarrow f'(\omega) = \frac{1}{r} + \frac{1}{2r} = \frac{2\omega}{1r}$$

$$\lim_{h \rightarrow 0} \frac{f'(\omega-h) - r f'(\omega-h) + r}{h(\omega-h)} = \lim_{h \rightarrow 0} \frac{-r f'(\omega-h) f(\omega-h) + r f'(\omega-h)}{\omega - rh} =$$

$$\frac{-r f'(\omega) f(\omega) + r f'(\omega)}{\omega} = \frac{-r \times \frac{2\omega}{1r} \times r + r \times \frac{2\omega}{1r}}{\omega} = \frac{-2\omega}{1r}$$

$$y = x^r - r x \rightarrow m = -\frac{r}{r} = -1 \rightarrow m = -1$$

$$y = x^r - r x \rightarrow y' = r x^{r-1} - r$$

$$\Rightarrow r x^{r-1} - r$$

$$r x^{r-1}$$

$$y = r \rightarrow (1, 2)$$